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Time allowed for the test: 50 minutes
HIBZEFRE - 50 938

Instructions:

1. This test contains two sections:
Section A: Questions 1-30
Section B: Questions 31-36

Answer ALL questions.

ARl < A

Write your answers on the answer sheet.

booklet and there 1s no need to rub it out after the test.

You may do your rough work in the blank space of this test

6. You can use a pencil or a black/blue ball pen to answer the

questions.

7. The use of calculator is not allowed.
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Write your name, class and class number on the answer sheet.



Note: PER

Not all diagrams are drawn to scale. LB A B F o

SECTION A (60 marks) v 2R (60 4)

Choose the correct answer. You only need to ENT IR E R B N FE P iE

write down the letter preceding the selected FhE e A o

answer.

1. The total collection of a library is CERDERD AR EPTNED

2 600 000 books when corrected to L@ {5 2600000 &~ > 12 % B~
the nearest hundred thousand and ITWELT R > 5 2650000 & o
2 650 000 books when corrected to T AR BT A GRS
the nearest ten thousand. Which of g 3o e ?

the following could be the possible
total collection of the library?

A. 2643 000 A. 2643 000

B. 2 646 000 B. 2 646 000

C. 2653000 C. 2653000

D. 2 656 000 D. 2 656 000

2. The price of a notebook is $34. One | 2. — AL el i 5334 > pL§

extra free notebook will be given 6 AV ERHIERE - & o f]~ e Z
when buying 6 notebooks. Miss PLY 25 Adzedd o AU EH S
Chan needs to buy 25 notebooks, L9
how much should she pay at least?

A. 5612 A.$612

B. $748 B. $748

C. $816 C. $816

D. $850 D. §850




3. All factors of H are: 3.H o7y Flic .
1,7, 11, H 1~7~11-H

Which of the following is not a MR- R B_H i ?
multiple of H?

A. 88 A. 88

B. 154 B. 154

C.231 C.231

D. 308 D. 308

4. % 1~2~6E 8- Bh Ltz =
B PRI 6B E o F Bk
FAVEAHFRY %= i 90
1 HCF #3579

4.1, 2, 6 are used to form the largest
3-digit number which is a multiple
of 6. Each number should not be
used repeatedly. What is the H.C.F.
of that 3-digit number and 90?

A. 30 A. 30
B. 18 B. 18
C. 15 C. 15
D.6 D.6




5. The above figure is formed by 3

regular hexagons of the same size.

What fraction of the whole figure is

shaded?
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6. There are 3 lzkg of apples in the

fruit shop. The peaches are 5

3
5Kg

heavier than the apples. What is the

total weight of apples and peaches

in the fruit shop?

3 e
6. k%7 % 3lzkg LS

3 -
¥ 3 Sgkg o k&R R

, 7
A.3T5qke A.37T50ke
0 19
B. 425 ke B. 427ke
) 9
C. 577 ke C. 5770ke
1 |
D. 697 kg D. 6970k
BATIEAH EE (] 5)



4
7. A roll of ribbon i1s 15§m long.

After half of it is used, how much is

left?

19
A. 320m

B. 7Em

C.97m

D.31zm

.4 t
7. - X454 E 15zm0 * 2 - L5

B 57

19
A. 320m

B 72
- T{om
C.97m

D.31zm

5

1
8. IOEL of milk is poured into glasses
3
of capacity of ZL each. How many

glasses can be filled?

A7

B. 14
C. 16
D. 28

1
4 4 =
8. 3 247 105L

S
g Lo

AT

B. 14
C. 16
D. 28

~ Ny ~ g
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9. The weight of a baby is 4.31kg, and
the nurse wrote it as 3.14kg by
mistake. What is the difference in

value between the two ‘4’s?

A.0.36
B. 3.6
C.39

D. 3.96

9. B I ¢ £ 431kg L B E S
3.0dkg - A B T4, chliciEp £

LN
‘o
.

A.0.36
B.3.6
C.3.9

D. 3.96




10. Which of the following has the

largest value?

A.8.8+8+0.08
B. 88+8.0840.08
C. 88+8.08+0.8
D. 88+0.840.88

10. ™ F[vR— FFE R < 7

A.8.8+8+0.08
B. 88+8.0840.08
C. 88+8.084+0.8
D. 88+0.840.88

11. The price of a bottle of coke is $26.
A reduction of $52 is given to the
purchase of a box of 13 bottles of
coke. By how much is a bottle of

coke cheaper on average?

A.§12
B. $8
C. $4
D. §2

11. 5557 #eh 8 i £.$26 LT -

By 13 FgehT & 7 ER l%
$52"Ii.;—j—4ﬁip _/i_l;_‘ifg;éa'i g,l)?

A.§12
B. $8
C.$4
D. §2

12. Jack has 37 pieces of $5 and $10
vouchers altogether. They are worth
$245. If Jack has 13 fewer $10
vouchers than $5 vouchers, how

many $5 vouchers does he have?

A. 12
B. 24
C.25
D. 30

12. i ’ﬁ$5fr$10IﬁL$*" 37 % -

TP AL E$245 o 4ok i B e$10 IR
%PL$SIR§n 5135k > 3 85
5 L3R Q




( ) 4cm ( ) 8cm

( )  4cm ( ) 8cm

( ] 4cm

13. If all of the above five plastic sticks | 13. 4% ¢ FFi¢ * 2 F 0T 15 %453

are used together to form a - B A T e AT R
quadrilateral, which of the - B/ iga 9
following quadrilaterals can be
formed?

I. rectangle L %274

II. parallelogram IL *Feifa)

I11. trapezium II1. 47

A. Tonly A 751

B. III only B. 73 II

C. II and III only C. 3 Iz III

D. I~1I1% III

D. I, IT and 11T

14. Car Pis 10m to the southof Car Q. [14. ;¥ 2 P 47 & Q e * 10m ;%

Car R is 10m to the west of Car P. B RAFXD Pend 23 I0m> i@
In which direction is Car R from R i@ Qewh—- 3 9
Car Q?

A. south-east A L=

B. north-east B. &#

C. south-west C. ¢

D. north-west D. & #




15. Which of the following figures has

the most number of lines of

symmetry?

A.

15. T Avh- BRI G E SRR
B ?

T

e
0

vV
Il

16. The above is the net of a cube.
When it is folded into a box, the

face with | =

is at the top. Which

16. F Bl & - B > 8 F A Bl o
R S N ) A

7R R o 3% £ F R IR U T O

of the following shapes is at the - BRI
bottom of the box?
A. | g3 A. | B3
B. | > B. [>
C.|= C. |8
D. | D. | &
BATILUH X () 5) 9



8cm ,—| &cm ,—I 8cm

18cm 18cm 18cm

17. Andy has two pieces of triangular 17. B3FF A< fplehz £252
plastic board of the same size and - BE AR o Ao b BT e
one piece of rectangular plastic TR R F A d e B
board as shown above. Which of the W L& Ak ?
following figures cannot be made by
fitting the three pieces of plastic
board together?

A. triangle A = &7
B. rectangle B. & %75
C. parallelogram C. Tizw 4
D. square D. &+ =>4}

18. The perimeter of the rectangle is 18. &£ * A5en% i §_56cm - 4% £ B
56cm. If the length is 3 times the IRREDIE - ZRE A5
width, what is the area of the F 52507
rectangle?

A. 98cm? A. 98cm?

B. 147cm? B. 147c¢m?
C. 294cm? C. 294cm?
D. 392¢m? D. 392¢m?

B AT H 85 (] 9) 10



16cm

dcm

12cm 4ch

L—
2cm

[ / 2cm

19. Two rectangles of the same size are

19. #-% @ = ] 4p P& B A% -

placed together. Parts of them are Az He o Efp, ¥ 930 4
overlapped and a white portion is cut IRL o o b BT o SRR A
away as shown in the above figure. hoE A
What is the area of the shaded part?
A. 380cm? A. 380cm?
B. 320cm® B. 320cm?
C. 316cm? C. 316¢cm?
D. 256¢cm? D. 256¢cm?
12cm
12cm
20. In the above square, what is the 20. &t Bleor 3 A5¢ o RN A e
area of the shaded part? mAEAS D
A. 288cm? A. 288cm?
B. 184cm? B. 184cm?
C. 144cm? C. 144cm?
D. 72c¢m? D. 72cm?

11



4cm in
35cm
Scm 30cm
30cm
21. What is the volume of the above |21. * Blef8fF 2 % > ?
figure?
A. 8400cm? A. 8400cm’
B. 11700cm? B. 11700cm?
C. 13500cm? C. 13500cm?
D. 15000cm? D. 15000cm?
3cm
X Y
3cm ) 9cm g

22. According to the above figure,
which of the following descriptions

1s correct?
A. The area of Y is six times
as large as that of X.

B. The area of X is smaller than
that of Z.

C. The area of Y is larger than
the total area of X and Z.

D. The area of Z is smaller than
that of X.

22. 4{{!;}7%\_! B > T A|vR— 3F it H_ O
Fei?

AY e A X 5 o
B. X e fg vt Z e o
C.Y tha #f X fr Z e o

e

D. Z & # v X i) o

12



8lcm?

«1—9cm?

4cm?

23. The above figure is formed by three
squares and a trapezium. What is the

area of the trapezium?

23. M EAED =B Ao B

AR RE STEE S SR

A. 10cm? A. 10cm?
B. 20cm? B. 20cm?
C.26cm? C. 26cm?
D. 45cm? D. 45cm?
Scm
---------------- 17 13cm
: : cm
« 20cm g
Figure 1 Figure 2
] - =

24. After the cuboid formed by the net in
Figure 1 is combined with the solid
in Figure 2, a cube of side 13cm i1s
formed. What is the volume of the

solid in Figure 2?7

A. 350cm’
B. 1672cm’
C. 1847cm?

D. 2197c¢m?

24, F Bl- S3EARERS E S8
B BET Rl D g e

A. 350cm’
B. 1672cm?
C. 1847cm?

D.2197cm?

13



Sales of Sandwiches in Lucky Restaurant Yesterday

z

= 34 RF =

[

Hzpaas§

Each

% stands for 10 sandwiches

B A& 10E=Zps
Egg Sandwich Tuna Sandwich Beef Sandwich Ham Sandwich
b S EEAZP s L= Pps Loz s
Type of Sandwich
Z PR
25. The above chart shows the sales of |25, ™ + & 3R BPFX & 3= PP g

sandwiches in Lucky Restaurant 4 E NS R 0 RIS AR S
yesterday, but part of it is covered 1ot iR BRAFX G AT 200
with dirt. It is given that Lucky EZpieom B E AP0
Restaurant sold 200 sandwiches HEIFEPp =P im3 B IR
yesterday, and the sales of tuna EEEAZP IS 0 BT @
sandwiches is 3 times as that of beef 5009
sandwiches. How many @ should
there be in the column of tuna
sandwich?

A3 A3

B.9 B.9

C. 10 C. 10

D. 12 D. 12

14



Number of Students Who were late in the Past Five Days

W3 T XA PF A g

12
. 10
s 3
R -
ZI
A ]
Baw 4
E - N
Z 2
0
Monday Tuesday Wednesday Thursday Friday
5 - 5= 5= Ee W3
Day
p

26. The above graph showed the
number of students who were late
in the past five days. Which day’s
total number of students who were
late was exactly 2 times the total
number of students who were late

on Thursday?

A. Monday
B. Tuesday

C. Wednesday
D. Friday

26.

Boys
m

Girls
44

P RAES T R ERNF A
Hoo VR— X B T A gk LA

e 2 27

o 0 &

BATALAIH E 5 () 5) 15



Number of Spectators Watching Basketball Matches Last Week
St AWy g R T X

1000

900

800

~
=
(=]

|

D
S
(=)

|

BTk

Number of Spectators

Sunday = Monday Tuesday Wednesday Thursday  Friday  Saturday
8 p 5 - -2/ 8= ¥ 897 5 8~
Day

p =+

27. Jim wanted to use the above graph to | 27. £4. ¥ % F Bk &7 2 @

show the number of spectators ’F% g ;F L oA B e
watching basketball matches last o kS A B ek B
week. However, he forgot to indicate SRS X K5 1850 4 > P&
the number of spectators on Saturday PR E) NN - S IR e

in the graph. If the total number of
spectators of the top two days was
1850, how many spectators were

there on Saturday?

A. 700 A. 700
B. 800 B. 800
C. 850 C. 850
D. 950 D. 950

BATALAIH E 5 () 5) 16



28. There were 10 participants in a
camping activity. If the rental fee
for hiring car was $y and the rental
fee for tents for each participant
was $90. What was the total cost
for this activity?

A. $(10y+90)
B. $(y+90)
C. $10(y+90)
D. $(y-+900)

28. - BHYEFF 10 A fdr o ek
fEB iy * A Sy AR RGP
n\—‘!— &$9O$3’K};ﬁ'ﬁrlﬁi/‘éﬁ7m‘\_‘?

?7*\7,"?

A. $(10y-+90)
B. $(y+90)
C. $10(y+90)
D. $(y-+900)

29.If 5P =105, then P+16 =7
A5
B. 21
C. 37
D. 525

29. Yo% 5P=105 7RA P+16="2
A5
B. 21
C. 37
D. 525

17



30. Study the following expression:

30. LB T o N

R 7 R 7
+185|]8 +1S||8
9|8 9S8
Find the result of RxS. P A RxS kg% o
A. 8 A. 8
B. 10 B. 10
C.15 C.15
D. 35 D. 35
End of Section A
v 2Rz
BATMELH B4 () 5) 18



SECTION B (40 marks)

Working steps must be shown in answering
questions in this section unless specified
otherwise.

z 3 (40 &)
GHELRE Y B AR R
;ljﬂll“:z\l-é;ﬁ:ﬁ? °

S5cm

Figure 1
Bl -

Figure 2
B =

31. The plastic sheet in Figure 1 is
formed by one square and four
trapeziums of the same size and
shape. Nancy used this plastic
sheet to fold into the bottle in
Figure 2.

(a) In Figure 1, what is the area of

the plastic sheet?  [4 marks]

(b) In Figure 2, the capacity of the
bottle is 450cm’. If Nancy uses
this kind of bottle to hold
1560cm® of vinegar, how many
bottles can be fully filled at
most? (Give the answer only)

[2 marks]

31 - e 2 Ed - B2
N A R a VR N
woo ATRAI* ZR T B WS oD

(b) W= > e+ NFEL
450cm’ o 4r % FT R * A AY
3 B 1560em’ fofs o b
B SVEERLOCIE2(FAD
hER)

[2 ~]

19



32. The graph below shows the amount [32. T Bl + 7 W &2 5B " 2 &
of teapot produced and ordered in e é_f‘n}r’fﬁi o % R enA
DR e
\i%xm ﬁﬁ W s
UELTH R R R g R
Bk ks EGTREE o

W
S

)

_y
‘_\
T
‘Fﬁ

shop W last five months. When the
amount produced is greater than the
amount ordered in a certain month,

R LU N
Fﬂ?« (R S

the staff puts the remaining in the
warehouse. When the amount
produced is less than the amount
ordered in a certain month, the staff
uses the teapot in the warehouse

to fulfill the orders.

Amount of Teapot Produced and Ordered in Shop W Last Five Months
WEiE2 I B! x4 A8 {7 ME

9
N B ] Amount
8
2 7] B [] Produced
SN — — 4 % B
853 w6 T
= 25 4 A
o DS mount
S Eo 4 [ ] Ordered
S TR
g = 3 _
< 2 _
1 —
0 July August  September October November
= A A A ,L A L 5 L _ 2
Month
(a) In which month was the greatest (a) vRiB 2 07 TF:-?% 4 A § foiT
difference between the amount PEEAE S (R IE
of teapot produced and ordered? %) [2 ~]

(Give the answer only)
[2 marks]

BATALAIH E 5 () 5) 20



(b) From July to September, do you
think shop W had enough teapot
to fulfill the amount ordered?

Explain. [4 marks]

33. Amy used 14 equilateral triangles
of the same size to form the shapes
in Figure 1 and Figure 2.

Figure 1
g] -
(a) On the answer sheet, draw all

the lines of symmetry of Figure
1. [2 marks]

(b) If the perimeter of Figure 2 is
16cm longer than that of Figure
1, what is the perimeter of
Figure 2? (Give the answer
only) [2 marks]

33. 3 3% 4B~ [ fpkeenE = &
A5 N Bl- 2 BlZ A5k o

Figure 2
Bl =
() B EALAL >k AF - o
150 - [2 4]

(b) 4%k Bl= 1% Kb Bl - %
& l6cm > Bl= % R E_ %

SR ERNESR) [24]

21



34. (a) There are 304 members in the
: 11
acrobatic troupe, 16 of them are

male. How many members are

female ? [4 marks]

(b) The acrobatic troupe sets a stand
on the stage, as shown below.
Each step of the stand has the
same width and same height.
What is the volume of the stand?

34.(a) Fe L@ 3 304 4 > H ¥
Te ™7 > *t5 57172
[4 ~ ]

(b) fe MoK E T - B 5
e e WA e SR E s
RAPEF O FRTAR - iE
B r RS 2 (48]

[4 marks]
0.6m
A \0.6m
IO.6m
2.4m
BATALAIR 5 (] 5) 22



Football Class | Ceramics Class
g5 Ei G
Course fee Special price
, $4600
2 E T i
Number of periods
- 10 12
RS
Duration of each period (hour) | ll
FEFR(CLF) 2
Fee for material (whole course)
— $800
BB (2 8)

35. (a) If Ken enrolls for the ceramics
class and uses material, what 1s
the average fee per hour for the

ceramics class? [4 marks]

(b) There is a special price for the
football class. It is noted that its
course fee is half of the ceramics
class. What is the course fee for
the football class? (Use equation
to solve the problem and show

your working) [4 marks]

35.(a) 4% FMBIRH I & * 7
Ho o g #ErTT 305 ) prye
509 [4 ~]

(b) EFfFIREFHFG L > BT
v rHEyAREsIIy g
Boon- Lo RIRITrHE Y A
B YCRT G ARFIT

[4 ~]

BATALAIH E 5 () 5) 23



36. The following is the floor plan of the
area around a school.

36.

LR Y BT R -

Cinema
E-a e
Hospjtal
¥R
Sypermarket
i
Schobl Bookstore
21 ER

(a) The Cinema is in the east of the
Bookstore. Which direction is
the School from the Cinema?

(Give the answer only)
[2 marks]

(b) During a big sale in the
Supermarket, all juice was sold
at ‘Buy 6 and get 2 free’. Ivy
bought 8 bottles of juice. Each
bottle of juice cost $12
originally. By how much was
each bottle of juice cheaper on

average? [4 marks]

(¢) Karen and 3 classmates went to
the Cinema to watch a film.
The price is $84.6 per ticket.
How much should they pay

total? (Give the answer only)
[2 marks]

(@ TR ET FOLS « BRA

TR 5 9 (R AR

) [2

W

(b) 425 FEiBF <Y > 15
*F 620 THF T 84
ko AR ASI2 Tias

EAQE 500 [44]

(€) Iatffr3 =R B P T HIE T
B0 THL EESYA6 0 b X

B 5 2(RARNES)
[2 ~]

End of Test Paper

Pl E =
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